Equation of a circle and intersections
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			1) Find the coordinates where the circle   meets the  -axis.


     



			[1]  


			2) Find the coordinates where the circle   meets the  -axis.


     



			[1]  


			3) The circle   meets the  -axis at ( , 0) and the  -axis at (0,  ). Find the possible values of   and  .
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			4) The line   meets the circle   at L and M. Find the coordinates of L and M.


     












			[1]  


			5) The line   meets the circle   at R and S. Find the coordinates of R and S.
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			6) Find the point of intersection of the tangent   to the circle  .


     



			[1]  


			7) Does the   meets the circle  .


     




			[1]  






Solutions for the assessment Equation of a circle and intersections

			1) The circle meets  -axis at (-10, 0) and (4, 0)


			2) The circle meets  -axis at (0, 7) and (0, 5)





			3)   or   and   or  


			4) The coordinates of L and M are (1, 0) and (3, 2)





			5) The coordinates of R and S are (-2, 2) and (0, 6)


			6) The point of intersection is (-3, 6)





			7) Yes













